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public void increaseTime(){
switch( this.currSection}{
case 1 :
this.realTime.add (Calendar.MINUTE, amount 1);
ifl this.realTime.get({Calendar.MINUTE) = 8)
this.realTime.add(Calendar.HOUR_OF_DAY, amount -1);

. break;
Failed Case Report
. case 2:
8. EE *E*{;O'"kl 9999"& OI-?- 10000"!3% IE-IIEEI' ( 'JI\'IO-I Ql_l'ﬂ ) this.realTime.add (Calendar.HOUR OF DAY, amount 1);

If{ this.realTime.get{Calendar.HOUR_OF DAY) = 8)
this.realTime.add{Calendar.DATE, amount -1);
break:

case 3 :
this.realTime.add(Calendar.DATE, amount 1);
Ifl this.realTime.get{Calendar.DATE) = 1)
this.realTime.add(Calendar.MONTH, amount -1);
break;

case 4 :
this.realTime.add(Calendar.MONTH, amount 1);
If( this.realTime.get{Calendar.MONTH) == Calendar.JANUARY)
this.realTime.add(Calendar.YEAR, amount -1);
break:

£3ase 5 :
this.realTime.add (Calendar.YEAR, amount 1);
1f{ this.realTime.get{Calendar.YEAR) = 1B8808)
this.realTime.set(Calendar.YEAR, 1970);
break;

default:
break;
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Testing Result (Failed, % 2t2)
3300, 3301, 3501

1f{this.status == 4 && (fhis.currTime.get(Calendar.SECOND) = this.alam[i].get{Calendar.SECOND) + 30)) {

requestStopRinging():

else 1f{ this.status = 3 && ++startBellTime == 3008) ringOff();






